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Met Lys ERR  SMMERE FHERE FHIE

1 R — - 100.0 100.0 100.0 100.0

2 MKF A — — 92.7 110.0 112.6 95.6

3 MKFA 120% 80% 87.7 100.4 120.6 94.6

4 BAKFIA 120% 100% 96.4 102.7 109.9 96.6

5 MKFA 120% 120% 101.4 104.7 104.8 97.9
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x2 JOUDRE

B KB & E & Met Lys s &
(%) (%) (%) (%)%
3 Bk + Lys K 38 0.42 0.52 13.8
4 K + Lys H 38 0.42 0.65 13.8
5 K+ Lys = 38 0.42 0.78 13.8

x3 BRI S

X5 LL L M MS S SS  #&4 MSLUF LUE
3 3.66  16.87 48.98  26.47 3.76a  0.25 0 33.11a 21.77
4 6.47  19.98 4854 2401 0.97b 0.04 0 25.02ab 26.44
5 6.65 24.25 5476 1405 0.25b  0.04 0 14.60b 31.00
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